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1. BEEHUA
O=EIA 3,760,000 ] | [ 3,790,000 ] A 30,000 ]
ESBREIRA 3,520,000 3,590,000 A 70,000 |[186%t 35200
BEHRESBNA 240,000 200,000 40,000 |74t 24m
Q@B HIA 25040000 ] | [ 23,580,000 ] 1,460,000 ]
ZHEHIA 22,750,000 21,070,000 1,680,000 |2EimEx-axEg
BRERBRFHEIRA 790,000 810,000 A 20000 |vmosiEzE
e 5 458 AR A 1,500,000 1,700,000 A 200,000 |EfEGERHE
OHBIEHINA 30,660,000 ] | [ 30,380,000 ] 280,000 ]
EFHBEEIRA 19,850,000 19,570,000 280,000 EEBRRHS DEIEHDSE
HETF B & UNA 10,000,000 10,000,000 0 |omhErst
BIRL IR A 810,000 810,000 0 |AMERXEBRE
@FFEHIIA 24,700,000 25,850,000 A 1,150,000 |E#gEEESt
GOIRA 1,750,000 1,750,000 0 |(ETEHEZ
HETHULAG 85,910,000 85,350,000 560,000
2. BXFEHIH
OF£EXZH
1% B RN ST H 1,500,000 1,500,000 0 |®ohixEmEN
BE#E 13,250,000 12,980,000 270,000 |mE#HS5 EFY
BEEXH 4,300,000 6,560,000 A 2260000 [#mEEs
BREEERH 4,200,000 4,650,000 A 450000 [H&EBEHE
SERBEXH 50,000 50,000 0 |=xst@E-digiTat
MR 3B E K 1,200,000 1,230,000 A 30000 |#emiRE-BHEMRE
BHEE X 14,250,000 14,180,000 70,000 |@EMmMETHE
B B XK H 3,380,000 2,440,000 940,000  |dlETFRk-%H
HEEREXH 1,000,000 1,000,000 0 |IgrRUusEEER
FIRIBAE X H 100,000 100,000 0 |Era—t2ky- SR
EHE X 300,000 300,000 0 [nmsss
BREXH 80,000 80,000 0 |s#snz-suz
PRI B S 2,000,000 2,000,000 0 |trm-Hvur-Ei
FEKE X H 2,950,000 2,950,000 0 |E&EH kEH
FEHIH 13,800,000 13,760,000 40000 |[HBZEHER-RES
i REBAL 5,000,000 200,000 4,800,000 [/$vav
HEBE X 9,200,000 7,530,000 1,670,000 |#&hsi4
ERRRUEEHES 2,100,000 1,980,000 120,000 [E=THss- 25N
BESRUAREIH 2,050,000 1,560,000 490,000 |HE®-BHESMAES
B H 50,000 50,000 0
EEBIHE 80,760,000 75,100,000 5,660,000
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QEBEEXH
& BB 1,910,000 1,910,000 0 |RE-FEHRERM
BEHREXH 3,950,000 3,870,000 80,000 |HEHRE-FEFH
RAIELEEXH 1,150,000 1,150,000 0 |HERRR
SBEXH 180,000 180,000 0 |#He%F
RERBE X H 600,000 600,000 0 |ZERE-REEMAAE
BBFEI 850,000 850,000 0 BEEH - RERHE
HEMEXH 450,000 450,000 0 |fEXREEEREME
RIS AE X H 100,000 100,000 0 |tvs—f=&Y-FEHR
EEEX W 200,000 200,000 0 |/MEEE#E
BREEXH 80,000 80,000 0 |=#EHFH
M E X 140,000 140,000 0 |kTm-#AvIr
FEKEZH 200,000 200,000 0 BESH-kEH
FEMXH 400,000 400,000 0 [AR-RE-HERTEF
R AH 1,000,000 200,000 800,000 AV/= %
ERANEUERENIH 280,000 280,000 0 |PE—#%-B8BEIJ—XF
AEERUVAREXH 360,000 360,000 0 |EAL-BERGKRES
HEXH 200,000 200,000 0 |EHE %
ETEEHE 12,050,000 11,170,000 880,000
EXFHHE 92,810,000 86,270,000 6,540,000
EXREHPNKELE A 6,900,000 A 920,000 A 5,980,000
I REFTHINKDOER
1. REFPHNRA
HEEERYALIRA 5,000,000 0 5,000,000
REFHIRAG 5,000,000 0 5,000,000
2. REFHZH
BHEAEERSXH 0 0 0
REFFHHE 0 0 0
REFHINKEEE 5,000,000 0 5,000,000
M EAFEBUNZDE
1. MFEFERA
BATSEEIURAGT 0 0 0
2. HHEBXE
BAEEE A 0 0 0
RTINS E- 3] 0 0 0
NV FREXH
LA =R A 1,900,000 A 920,000 A 980,000
AR 3 = 4E 2,300,000 1,200,000 1,100,000
REAGEBUIN X = 4E 400,000 280,000 120,000




